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EPR states of two fermions:

1 2 1 2+S=1:

S=0:
1 2 1 2

-

Ps Pr

+1 -1

-1 +1
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proton proton

e.g.:   proton + proton scattering
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proton-proton scattering molecule-molecule scattering

entangled polarization entangled  molecular excitation

fermion-fermion scattering boson-boson scattering
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para-H2 para-H2
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Initial entangled state:
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=

scattering amplitude for entangled initial states
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= 1014

= 11
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= 1.63

= 0.02
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F HD

F+HD        H+FD,   D+HF

A reactive scattering with two channels
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Initial entangled state:

Conditions for interference: 
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0.25 0.27 0.29 0.31

ENERGY (eV)

r_max = 161

r_min = 2.6
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Initial entangled state:


